P2.5 Question
[bookmark: _GoBack]To do...
1) Read the question carefuly
[image: ]


2) What topic is this question about _______________

3) Brainstorm as many of the keywords or phrases that you think should be included in the answer.








4) Now have a think about the order or sequence you would put these keywords or phrases in.








5) Now have a go at answering the question before looking at the mark scheme


P2.5 Answer
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6) Use the mark scheme to see how well you did. Below, see if you can come up with the perfect response
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4 Scientists use models to help them think about difficultideas. The diagram shows a general model

forradiation

Prin lives in the countryside, where there are no strest lighs.

radiation

(may be refiscted, transmitted or absorbed
by materials during the journey)

‘Tadiaton travels

He thinks this model of radiafion works well because it explains why he can sse a road sign at
Pight when he uses his car headighis.

s he correct?

dustity your conclusion carefully.

/ “The quaity of writien communication wil be assessed n your answer.

O]




image2.PNG
Question

Answer

Guidance

Tevel 3]
Complete description of how each stage of the model fits
the situation. Emission / source, reflection and detection all
comectly described in context.
Quality of written communication does not impede
communication of the science at this level.

(56 marks)

[Level 2]
Description of how each stage of the model fts the.
situation is incomplete, but comect where given. 2 stages
comectly described inciuding reflection.
Quality of written communication partly impedes
communication of the science at this level.

(34 marks)

[Level 1]
Description of how each stage of the model fts the.
situation may be incorrect, but has correct elements.
Reflection stage correctly described or named source or
detector. Answer may be simplitic.

Quality of written communication impedes communication
of the science at this level.
(1-2marks)

[Level 0]
Insufficient or irelevant science. Answer not worthy of

credit
(0 marks)

This question is targeted at grades up to C.

radiation source is car (head)lights
radiation is visible light

light travels through airair transmits light

sign reflects light

light detected/absorbed by eye

‘model full explains observations/seeing at night
hence Prinul is correct

accept reasons it might be a poor model

« notfuly testediited evidence for this model

accept some of the information can be communicated using
‘alabelled diagram including the specialist terms

fundamental errors limit response to level 1. .
leaves the eye, or eye is the source

light

ignore other named light sources

ifthere is no written response, please check the diagram in
the question for a response

Use the L1, L2, L3 annotations in Scoris; do not use
ticks.
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